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Theorem (A. Baker; 1968)

Let k > deg f + 1. All solutions of f(x,y) =m in integers
T,y satisfy

max (|z], |y|) < Cele™

K
bl

where C' is an effectively computable number depending only
on deg f, k, and the coefficients of f.
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Theorem (E. Thomas; 1990)

Let n be an integer with n > 1.365 x 107. Then the equation

2 —(n—1)2%y—(n+2)xy? —y3==%1, n>0,

has only the trivial solutions (0,+1), (£1,0), (£1,F1).
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Theorem (C. Levesque and M. Waldschmidt; 2015)

Let fno(z,y) = £1 with a # 0 and max (|z|, |y|) > 2. Then
there exists an effectively computable constant Ko such that

max (|n|, |al , [z], [y]) < k2.
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Conjecture (C. Levesque and M. Waldschmidt; 2015)

Motivation For s,t and n in Z define

Frst(@y) = (z = NNy (= — Mdby) (= — Ashby) -

There exists a positive absolute constant k3 with the
following property: If n,s,t,x,y are integers satisfying

max(|33| ) |y|) > 2a (Sat) 7& (an)a and fn,s,t(ll‘ay) = :l:lv

then
max (log [n|, |s|, [t],log|z|,log |y|) < k3.
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T aeremrerm Let € > 0. There exists an effectively computable constant k > 0
with the following property: If n,s,t,x,y are integers satisfying

|y| Z 27 n 2 37 st # 07 a'nd fn,s,t(xay) = :l:la
as well as
min (|2s — ¢, |2t — s, |s + t]) > € - max (||, |t]) > 2,

then
max (log |n|, |s],[t],log|z|,log|y|) < k
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= only A3 remains!



What’s in a future paper?
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m If we can solve the case 2s =, i.e.

ST (ac - g)@sy) (x -~ A@\%Sy) (m - gxgsy) = 41,

we can solve the Conjecture.
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